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Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(ii1)

AT S L o o S THA-TAH O T 2 |
Please check that this question paper contains 30 questions.
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Please write down the serial number of the question in the answer-
book before attempting it.
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15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

candidates will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ) type

Questions.

(tv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.

59/2/2 I —1 Page 3 of 24

P.T.O.


https://www.collegebatch.com/exams?utm_source=pdf

Qug —<h

1. frafafed 39 w0 @ s Svdiemor FaRd adt 8 ?
(a) oefiRTo afeaHiRT 7 |
(b) IereRTT SRR 2 |
(c) SITeliehTuT 3T g 2 |
(d) Ivefirtor Uk SRR STILHON 7 |

2. fy=fafea demeEi 4 @ o9 Afvgs g i 8 7
(a) UThHICH (b) HH EA®
(c) &l Imafer (d) T

3. fr=fafed 3 &« areafe guen & sl s g 2
(a) Terelt USTe o1 gRT 3TThevT
(b) Tereht HshTHeR T T HerT
(c) Toreet et

(d) 3TTaeRaTE T foaa)

4. O TYHIIET 3¢9 & —
(a) TE % I FRRAT S 1 T |
(b) ITRIER HesT ! Uk |
(c) STrERfieRTor Sl e |
(d) wroTIferE % THerTd I TR |
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1.  Which of the following statements is TRUE about globalisation ?

SECTION - A

(a) Globalisation is westernization.
(b) Globalisation is industrialization.
(¢) Globalisation is economic growth.

(d) Globalisation is a multidimensional phenomenon.

2. Which of the following resources is NOT a global common ?

(a) Antarctica (b) Ocean floor

(¢) Outer space (d) Forests

3. Which one of the following is a concern under Traditional Security ?
(a) Attack by a neighbouring country
(b) Spread of any pandemic disease
(¢) Global warming

(d) Spread of terrorism

4. The main objective of United Nations is to
(a) prevent manufacture of war weapons.
(b) prevent international conflicts.
(¢) prevent industrialisation.

(d) prevent spread of refugees.
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5. 191, 2003 I STHERT 3 3T W fohd Hem™ & STsRT foham o 7 1
(a) AT S wiH
(b) AT FhI ShieH
(c) HATHEH $THIEEE T
(d) ATH T e

6. frafafga @@ =5 a1 e Aifasa ga w1 v adi o ¢ 1
(a) o (b) S
(¢ et (@) Tt

7. 3= TS Sfadt o fore steqor 31 ifd &1 wed vew Fefaiad § @ feem am femean ¢ 1

(a) B IR () . Hea
(c) sfeume R IRIEGI
8. Trmferfaa geanati +i HershuaR Safer Hifu : 1

() HEa T At T S A R |

(i) HHEA T o1 ugelt TR g S AT |
(iii) TRTISITST o ET USTTe FHeEdal 9 gEdTar |
(v) Trie el T JemEE o4

T&! fashed 9T |
(@) (1), (ii1), (Av) TAT (i1) () @), (iii), (1) 7T (i1)
() (@i1), (v), (@) T (i1) (d) @v), (@), (i) T (ii1)
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On 19th March 2003, the US launched its invasion of Iraq under the code

name . 1

(a) Operation Desert Storm
(b) Operation Iraqi Freedom
(¢) Operation Infinite Reach

(d) Operation Enduring Freedom

Which one of the following countries was NOT a part of the Soviet Union ? 1
(a) Ukraine (b) Georgia
(¢) Italy (d) Estonia

Who among the following introduced a policy of reservations for OBCs for

the first time ? 1
(a) Karpoori Thakur (b) B.P. Mandal

(¢) Indira Gandhi (d) Mayawati

Arrange the following in chronological order : 1

(1) Implementation of recommendations of Mandal Commission.

(11) Appointment of Manmohan Singh as Prime Minister for the first

time.
(i11) Signing of the Punjab Accord with Longowal.
(iv) Appointment of Rajiv Gandhi as Prime Minister.
Choose the correct option :
(@ @), (1), @v), () (b) @), (1), (@), (1)
(© (), @v), (), () (d @), (1), (i), (i)
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9. 25 3H, 1975 @I, f=fafea & @ foeg aar 3 yumEE st wieh & @ % fog

Tyt T hi Swor <ht off 2 1
(a) TR < (b)  STITRTI I
(c) SISt HATleE (@) 31ed fagr) st

10. = feu 7T g T g1 YT i HE: IR (A) 9UT HRO (R) & &9 T Iifhd fepam T
2 | 31 HYAT i SIH 9 Ufey 31 srenfafad fashed! § 9 forel Tk o1 98l STt s &9 4
T | 1
afireRer (A) : 1969 H ™ U1 1 favTed &1 |
&R (R) : i Fiiehe 37 sfe mief & <t qearsh of |
feremea -

(a) YT (A) STRHT (R) EH1 HEl & 3R HR (R) SARTHAT (A) F Hel FRIF |

(b) MR (A) 3R FRY (R) GHI F&1 &, g HRUT (R) AT (A) T T HRO
T

(c) 3TfieE (A) B8 8, WHRU (R) T 2 |

(d) 3BT (A) T B, WHW (R) FEI 2 |

11. ST 37T b1 Ta frforfiad & & feraes grigam o 2 1
(a) W o HfIEH gR |
(b) RA % TFufd g |
(c) YTd TLhR o Ueh T&ITd g7 |
(d) Efea™ =71 |

12. fg-wrg o fagra’ ferem sega femam o, frereh shmon forfest v bt forwre gamm « 1
(a) 3Toge THHR W (b)  Hfeew i
(c) Torfes atehR (d) e urf
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9.  Who among the following had announced a nationwide satyagraha on 25th

June, 1975 for the resignation of Prime Minister Indira Gandhi ? 1
(a) Morarji Desai (b) dJayaprakash Narain
(¢) George Fernandes (d) Atal Bihari Vajpayee

10. In the question given below, there are two statements marked as
Assertion(A) and Reason (R). 1

Read these statements and choose one correct answer from the given
options.

Assertion (A) : In 1969 the Congress Party faced a split.

Reason (R) : Factional rivalry existed between the Congress Syndicate
and Indira Gandhi.

Options :

(a) Both (A) and (R) are true and (R) is the correct reason of (A).

(b) Both (A) and (R) are true, but (R) is not the correct reason of (A).
(¢) (A)1is true, but (R) is wrong.

(d) (A)1s wrong, but (R) is true.

11. Planning Commission was set up by . 1

(a) Constitution of India
(b) President of India
(¢) aresolution of Government of India

(d) the Constituent Assembly

12. Who advanced the “Two Nation Theory’ that led to the partition of British

India ? 1
(a) Abdul Gaffar Khan (b) Muslim League
(¢) British Government (d) Congress Party
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STURET T GRETT <h ST hi STEAT SHITT | 2
G Y o Tohegl TR 30T o 919 ferfay | 4x%=2

YT o WA 1 T2l Y Tg= hIfTT 8T heg TR bl STCRTIEETC! TSI <l ATHAT
T LT | T RIS T A b et a1t o 41 i feafa | 1+1=2

AT & U S YUTHGE] shl T8 hifTU S Th T Y hA G s fTU G H® | 2x1=2

W8T, THR gRI 2014 % 91¢ HIETI3! o1 W& Td 3 o T7¢ 3% Tohy 7u fopeelt
Tl SHRISHHT T Iooid HIfT | 2x1=2

AT 3T J9TA o o= graeeq <h forf3medn o1 Ssrr shifs | 2

wug -1

It g o 3T o W1E forvd TeTiTa | 31T fopegl =R afterd =i sl SR ST | 4x1=4

T 3R TR o S T2} b1 HoaTehl ISR <h! HETIdT & i | 4

“Seefiehtur I=1d FTENfiTeh o1 &1 weh URoTH 2 |7 31 ISTEtu h TErrar & e <l g hifsu |

2x2=4
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SECTION - B
13. Explain the notion of non-traditional security. 2
14. Name any four organs of United Nations. 4x%=2

15. Identify any two states where the Central Government had to
face separatist movements. Also name the leaders who led these

movements. 1+1=2

16. Identify and name of any two Prime Ministers of India who remained in

power for less than a year. 2x1=2

17. State any two programmes launched by the NDA government after 2014

for women’s help and progress. 2x1=2
18. Highlight the speciality of India — Nepal relations. 2
SECTION - C

19. Highlight any four changes that occured in the world politics after the end
of Cold War. 4x1=4

20. Evaluate the relationship between India and Pakistan with the help of

examples. 4

21. “Globalisation is the outcome of developed technology.” Support the

statement with two examples. 2x2=4

59/2/2 I —1 Page 11 of 24 P.T.O.



“®collegebatch con

i
s
22.  “foep Y IfsHaT YT ST <1 I UgaTt 7 1 Al g qatawufia srrarer o ded

| YA I AT ST | 2x2=4

23. WRd H SEE 91l 1 9 8 TohR A 31 91 H wh aidf & wqe A o on ? R Q
IETEIT oL TTE HIRT | 2x2=4

TUg -9
24. = feu T srar i e o ufed 3 srenferfad yeAl & 3w i - 4x1=4
“UTA 3 g TETY] TeT01 fohu 37 =g STarn fob 3qeh 418 =7 32991 o fetw srvpifaa
T T T FHAT 2 | 56 T o1 b 4 off warey wdhieor fopu | srrigi farred
9 gHl R %8 wlaey T {57 §1e § ger forn T | wRa 3 oREm) STER i iR w6
fertie feparm 17
(24.1)  wa 7 form o 3 qemmo] wdeor e ¢

(@) 1971 (b) 1985
(c) 1992 (d) 1998

(24.2)  Frafafaa 3 @ s af@ = giw 9w awra 7 swaer 70 9 5 fea
(a) SATIH TRHTY] TLIeT0T Hiaee Tf
(b) TRren wmEiar
(c) vasfier Tmeiial
(d) Ty et wf

(24.3) YRR T YA W] oAl bl SAATAGAT AT
(a) =it 3t < ferg
(b)  THTY S S o o1
(c) WRTIfRTT & YhTael i o foag
(d) o7 gren < ferg

(24.4) A A Teroreh ATTEM | 3794 YTHTY] HTIshH i IE fohaT o1 2
(a) @& W= (b) B S, q

(¢ TS, 7oA HA™ (d) . FEHTH
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22. “Development mostly causes degradation of environment.” Justify the
statement referring to two environmental movements. 2x2=4

23. How was the dominance of Congress Party in India different from the
dominance of one party in other countries ? Explain with any two

examples. 2x2=4
SECTION -D
24. Read the following passage carefully and answer the questions that
follow : 4x1=4

India conducted a series of nuclear tests demonstrating its capacity
to use nuclear energy for military purposes. After this, Pakistan also
conducted tests. International Community imposed sanctions on both
India and Pakistan which were subsequently waived. India opposed the
international treaties aimed at non-proliferation.

(24.1) In which year did India conduct series of nuclear tests ?
(@) 1971 (®b) 1985
(¢) 1992 (d) 1998

(24.2) Identify the treaty that India refused to sign.
(a) Comprehensive Test Ban Treaty
(b) Shimla Agreement
(¢) Panchsheel Agreement
(d) Indus waters Treaty

(24.3) In the beginning, India wanted to generate nuclear energy for

(a) peaceful purpose.
(b) making atomic bombs.
(¢) competing with the super powers.

(d) ensuring its security.

(24.4) Under whose guidance did India initiate its nuclear programme ?
(a) C.V.Raman (b) Homi J. Bhabha
(¢ A.P.J.Abdul Kalam (d) K. Kasturirangan
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25. WA o feu 7T UsHifoss W@-Amfa # =R U1 &1 (A), (B), (C) 3R (D) | g /=
2 | R @ TS IR o IMYR W 37 TSI <hl TgaM T 37 3ok T M, S bl
T BRI <1 shH T qUT THA H 3ifchd Fraf=ad 318R 1 391 ITR-gfegent & =
few wrew # fafew |

@) agw%nﬁ 379 T g, WA &1 | faverd fepam a2 |

T i TS AHER HY
THH T

et 18R ST T A

1.

1i.

111.

(i) o8 UST &l “Tsiia el — SATaTe THeia” T Ewei gu e |
(iii) o T FSTEH 1ot ST o1 TEaey o |

(v) T T Tl T FIere STTeIer T g7 T |
TR YAt
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25. In the given political outline map of India, four states have been marked
as (A), B), (C) and (D). Identify these states on the basis of the
information given below and write their correct names in your answer
book along with the respective serial number of the information used and
the concerned alphabets given in the map as per the format that follows :

Sr. No. of the Concerned
information used Alphabet

Name of
the State

1.

1i.

111.

1v.

4x1=4

(1) The state which has been bifurcated in two Union Territories recently.

(1) The state where Rajiv Gandhi — Longowal Accord was signed.

(111) The state to which Laldenga belonged.

(iv) The state from where the Dravidian Movement started.

L e

-;m-"'“'\‘ Outline Map of India (Political)

59/2/2 I —1 Page 15 of 24

P.T.O.



“®collegebatch con

[0 =]
i
[=]

e : TfcRad wea hae gantera ulenter & for sed s 25 % WH W e 4x1=4
(25.1) SHATTY IR 370 TR TE 2 2
(25.2)  TorE TST U@ wamwEt TSfa e 6 g g8 off ¢
(25.3) 1966 T fore T 1 WA STTER W TfSa feham T o 2
(25.4) A S A Tohd TS H SITIETE! STTGIT o -cdl Tohal 4T ?

26. = feu Tu T 1 eYES eI T SR Aefafad yAi b I fafer | 4x1=4

~ 3
() 37 BT o Ty frefefaa d a fraema R 2
(a) SMUE b) foaam
(c) eferurifen @ =™
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Note: The following questions are only for the Visually Impaired
Candidates in lieu of Q. No. 25. 4x1=4

(25.1) Article 370 has been abolished from which State ?

(25.2) In which State was the former Prime Minister Rajiv Gandhi
assassinated ?

(25.3) Which State was created on language basis in 1966 ?

(25.4) In which state did Laldenga lead a separatist movement ?

26. Study the given cartoon carefully and answer the questions that follow :4 x 1 =4

| THEN

Now

HU'S
CAPITALIST
RED
"POWER

(1) To which country are these two cartoons related ?
(a) dJapan (b) Vietnam
(¢) South Korea (d) China
59/2/2 I— 1] Page 17 of 24 P.T.O.
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(i) e ferarer o1 gy forg fmmuma @ 7

(2) Yshame (b) TTEETE
() HHeETg (d) ATdHaTE

(iii) dofioed 2TE o1 o AR R 7
(a) HTHETE I THTAT

(b) IShraTe Y TlehrAT
(c) UTIaTE reeawer 1 YsfiaTe & areHd
(d) IShaTe ST TR

(iv) TS o TR W G’ 37 T’ T 1 A< 7
(a) ‘7o H framyT H ‘IS FRA T R |
(b) T IR ‘I FHAFATE 2 |
(¢) “TE’ o IFAaTd a1 IR ‘IS & JT=qId dT STl 3TAT Tl ITeish gedl 9 7 |
(d) qE % a1 IR ‘I’ % JqT ITAT-ITAT AN AE |

e : Frfefaa o Fae givafera udenfer & e e den 26 FmwE: 4x1=4
(26.1)  wra, ffefaa 8 9 fora foramem =1 /e Har @ 2

(a) 3ERATE (b) HHTSTETE

(© s (d) =ETRE

(26.2) 1982 ¥ far=fetftaa § & i @1 ueh ufterad =fia ° fepan mam ¢
(a) 3T <1 Tasfientor femarm T |
(b) T THIfeeh 3T IATRIH TehTdaTd b1 FHT fehat 74T |
(¢ forory smifefer &= wenfi fopw o |
(d) B 1 iRt femem T |
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(a) Capitalism (b) Communism

(i1) Red Book is related to which ideology ?

(¢ Humanism (d) Terrorism

(111) What does the ‘Red Power Tie’ depict ?
(a) Negation of communism
(b) Acceptance of Capitalism
(¢) Coordination of communism with Capitalism

(d) Negation of Capitalism

(iv) What is the difference between ‘then’ and ‘now’ as per the cartoon ?
(a) ‘Rigidity’ has increased now in the ideology of ‘then’
(b) Rigidity has decreased ‘now’ in the ideology of ‘then’.

(¢) The leader under ‘then’ and the leader under ‘now’ belong to
different political parties.

(d) The Leader under ‘then’ and the leader under ‘now’ belong to
different organisations.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Qn. 26. 4x1=4
(26.1) Which one of the following ideologies is followed by India ?
(a) Liberalism (b) Socialism
(¢) Capitalism (d) Communism

(26.2) In 1982, which one of the following changes was made in
China ?
(a) Privatisation of industries was done.
(b) China ended its political and economic isolation.
(¢) Special economic zones were established.

(d) Privatisation of agriculture was done.
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(26.3) ﬁﬂ%ﬁﬁﬁﬁaﬁqwaﬁmiﬁq%aﬁﬁﬂﬁ%?ﬁ%
(a) TG R |
(b) &l TSTATE 7 |
(©) F&l wgecia a2 |
() et firefi-qef TR R |

(26.4)  Tr=fafiga 7 @ F a1 b fahes <= @ grag T2 8 ?
(@) TUTIA b) <=
(c) wTEETEHT (d) S

T -
27. (a) 9UH TENT JioHT 6l fopdl dH faraana o1 ISR AT | 3x2=6
Froran

(b) TEAFAT % A TG TR THR o gHey ferenfia o & weafra o1s fopedi o
HHETST 1 IR I | 3x2=6

28. (a) TETed % R § Tdl fehdl o grearatt o1 fageryo Hifse fa@ aifera 9o =
foerea g | 3x2=6

ran
(b) Hifaaa = & foered & forgl i aftomdt o1 fagersor Hifs | 3x2=6
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(26.3) Which one of the following statements is true about China ?
(a) Itis arepublic
(b) It is a monarchy
(¢) It has multiparty system

(d) It has a coalition government

(26.4) Which one of the following symbols is NOT related to China ?
(a) The Great Wall
(b) Dragon
(¢) Bicycle

(d) Rising Sun

SECTION - E
27. (a) Highlight any three features of the First Five Year Plan. 3x2=6

OR

(b) Highlight any three problems faced by Government of India

immediately after independence related to the displaced population.

3x2=6

28. (a) Analyse any three happenings during Gorbachev’s period that led to
the disintegration of the Soviet Union. 3x2=6

OR

(b) Analyse any three consequences of the disintegration of USSR. 3x2=6
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29. (a)

(b)

30. (a)

(b)
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1969 T 73" uTel H U foreres & fopel i s o1 fergerson hifu | 3x2=6

YA

1975 H 3ATTdeRTe TN fohT ST o fohegl i i w1 foscivn hiiiwl 3x2=6

R 3R = % o9 a7 o fopl @ SRl 1 <d gY, FT o S TEse 6
ATeheld SHIfTT | 3x2=6

YA

AUTA & AT g0 Alehd= o fo1u fopu 7T wed 1, foreel fiF geT13l & 3R ™
TR SHINTT | 3x2=6
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29. (a) Analyse any three reasons for the split in the Congress Party in
1969. 3x2=6

OR

(b) Analyse any three reasons for declaring Emergency in 1975. 3x2=6

30. (a) Assess the relations between India and China by giving any three

reasons for tension between the two. 3x2=6
OR

(b) Evaluate the pro-democracy struggle of the people in Nepal on the
basis of any three happenings. 3x2=6
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